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ool MEE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NI < 2t 849,718 517,400 332,318
= 26,203
< 163,765
Al 659,750
A=MHEIIgHeE 775,078 442,760 332,318
= 26,203
< 163,765
Al 585,110
M=&2 -s3&= 775,078 442,760 332,318
= 26,203
< 163,765
Al 585,110
PNR=ADL (=] = PSS 197,487 203,003 A5,516
201 et 175,420 181,320 25,900
01 At 22l 35,420 41,320 25,900
O0CRLXNIA &8 ¥ SEESH|
(652 %300,00001 )+( & = = X 900,000 ) 20,400
OXZAN EMEAMSE & =2 & =AHI|
300,000& »12& 3,600
OXNgNEEg S AREM 2 150,000& 8% 1,200
OXEgAN 228 &2 M= 500,000& x53| 2,500
OXN 28t ?I”s Ba4g
100,000& 10 *23| 2,000
OXNYAM RELRDIAM g2 Z2H EH 2L
250,000 «8H 2,000
OXNEgA 28 DDl EY ¢
680, 000& *4H 2,720
OANELDXNAM &€ X =2
(150 *4,00004 )+( 1002 *4,0000HK ) 1,000
02 2324l 140,000 140,000 0
O&J & =AE LDANNLES S 2EHR2I
90,000, 000& 90,000
OMEILXAN & U2 &€& RERS
48,000,000& 48,000
OMEL=Z2ME R IR 2,000,000& 2,000
202 04l 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
ONZEgRESHHI 5,000,000& 5,000
203 R =&t 5,000 5,000 0
03 A F=XH R =AY 5,000 5,000 0
OHMNS 2 AIMFAHRFEY| 5,000,000& 5,000
301 e A= 5,000 5,000 0
12JEE243 5,000 5,000 0
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ool MEE A CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXZN AN X243
(50,000 +30H )+(30, 000 *50 )+(20,000& * 5,000
100 )
306 243 6,355 5,967 388
01 &3 6,355 5,967 388
OXNFHMHAAE EHZ 6,355,000 6,355
308 XX EHH SOl A 712 716 A4
07 IXNHMARE = 712 716 A4
OXgAN 2HAEEH 2E3 712,000& 712
NEME 3235 2el 69,428 67,553 1,875
201 LB-2E| 14,899 14,400 499
02 83323l 14,899 14,400 499
OXEA - Mg Motz SAE = 14,899
-A & & dl s Xl 220,000 x12& 2,640
-NETEHI FRNES 309,900& »12& 3,719
It AHE =EHANAE SXE2 4,580,000 4,580
“HEAESEZEANLAE RANE>
330,000& 122 3,960
308 XX EHH SOl A 54,049 53,153 896
1037/ 2S0HUHeBHEAEALS HI 54,049 53,153 896
OEZEXNLANFEANLE RINE >
22,072,000& 22,072
OSERNLAM(RAHA)FEAAE SN
17,772,000& 17,772
OUMNSEANLE SXNE = 1,303,000& 1,303
020198 AMEDXNAM 22 L SAZel ALY
12,902, 000& 12,902
403 MtXISHH S0l & 480 0 480
02 SO 2SOlCHeH 2 X 2 E A I 480 0 480
OMBSgL=AIAE XYgd 2 480,000& 480
Nel+=g &= 83,081 61,420 21,661
201 Let24E] 21,090 22,050 A 960
01 At 221l 21,090 22,050 A 960
ONEI=g DXIA 2 60,000 20 A 1,200
ONel+gEao 2 2leE|
90& *25,000A 2,250
OMe=AME X MEBEE 0l82(dY)
2,700,000 2,700
OFTLRACALHE Ol22(AHY)
8,000,000 8,000
OXMXNLROUOH L53 0l2(HY)
2,200,000& 2,200
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ool MEE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM=g nEeizg & EE22HE
1,500, 000& 1,500
OM2I+e ABIE S48
20,000& +x12& 240
OMe+=LEYT L3 uE S
3,000,000& 3,000
202 O4dl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
OAIPEEH LINH MEHE+=2SH|
10,0003 =2H 10 122 2,400
303 L&t 3 15,000 15,000 0
01 243 15,000 15,000 0
ON+=gd Z&Z 500,000,000 *3% 15,000
308 XXM SO0 A 21,389 21,970 A 581
10 B2 S0 3&HAE A 21,389 21,970 A 581
OEZENA=LFEANLAE RS>
21,389,000 21,389
403 MtXISHH S =0l & 23,202 0 23,202
02 S 2SO HEAEE 2 E AL 23,202 0 23,202
OXMO XgMel=e F2AAE 2FASH|
23,202,000& 23,202
HE FEIA SAAY 59,206 55,764 3,442
= 26,203
Al 33,003
201 ¢er24] 54,406 50,964 3,442
= 23,803
Al 30,603
01 At 2t 2l 52,606 50,964 1,642
ONg==edtd A&+ 44,606,000 44,606
= 22,303
Al 22,303
ORSMIIABAARS AR A+
3,000,000& 3,000
= 1,500
Al 1,500
OMg =&l 82 &==9 M= 2,000,000& 2,000
OME=EItA T AL LBt ZH| 3,000,000& 3,000
02 2324l 1,800 0 1,800
OMg =& MAUEH KRAE= 450,000& *43] 1,800
202 O4dl 4,800 4,800 0
= 2,400
Al 2,400
01 = LH 4 Hi 4,800 4,800 0
OMNg =&t ELXZ A (I 4,800,000& 4,800
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A 5 =
488 LRYE

SN HH-S(BN) - MBAY - B il HlnE2
= 2,400
Al 2,400
[ZM M FAs =& 50,620 49,620 1,000
201 £B-2d| 50,620 49,620 1,000
01 At 22l 46,620 45,620 1,000
OXNYHAAHANAE AABE 14,740
MEBHEASE 3,960,000 3,960
PN =Ry 7,920,000 7,920
-MEOOIHY St 2,200,000& 2,200
-FIIANE R (2Y) 660,000& 660
OMEDIN & ERAUHE =239
1,250,000& = 12& 15,000
Of&ENE X &S EHH A 10,000& *200H 200
OMExdez2d HE 400,000& 123 4,800
OMEXNTIXNGLAANLAE S E 4
440,000& 123 5,280
OFNLZ MU AZALAAY OIEZ(HY)
6,600,000 6,600
02 3323l 4,000 4,000 0
OMEgd=gSe & 29K XM 4,000,000& 4,000
NEA MA=+e MR A X2 302,982 0 302,982
< 151,491
Al 151,491
101 144 dl 302,982 0 302,982
< 151,491
Al 151,491
M4 D12t ZE2EXNESES 302,982 0 302,982
oJl2= 10,0003 x17H 6 A| 2t%198L 201,960
< 100,980
Al 100,980
OFs=¢ 10,0003 «17H «6 Al 2t *34F 34,680
< 17,340
Al 17,340
OAXIRSsIH=E 10,0003 «17H+6Al 2t+8L 8,160
< 4,080
Al 4,080
OE&0HI 10,000 17 198 33,660
< 16,830
Al 16,830
O4Ui2dgd= s 24,522,000& 24,522
< 12,261
Al 12,261
Mg A+-2s XA 12,274 0 12,274
< 12,274
101 14 dl 8,000 0 8,000
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ool MEE A CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 8,000
04 JI2ZtHIZ22NEE S 8,000 0 8,000
OAENZAN JI2ZEHIZ2 2 A+ Il = H| 3,000,000& 3,000
= 3,000
OAEHZAF JI2ZHHIZ22 X s S 5,000,000 5,000
& 5,000
201 LBt 2,000 0 2,000
& 2,000
01 AP 22| H| 2,000 0 2,000
OAENZAI JIZHHIZ22K M2 E22 HE S
2,000,000& 2,000
= 2,000
202 04| 2,274 0 2,274
o 2,274
01 2Ll 2,274 0 2,274
OZMHME Hx8E8s 0l 2,274,000 2,274
= 2,274
HESAAH (NS ) 74,640 74,640 0
2B (M2 D) 74,640 74,640 0
Jl23H (M) 74,640 74,640 0
201 LBt 9 ]| 18,000 18,000 0
01 AP 22| H| 18,000 18,000 0
OBMSI AR 22l ] 18,000, 000& 18,000
202 044l 51,840 51,840 0
01 2L Y| 51,840 51,840 0
OJIE2d2=s10H|(279) 51,840,000 51,840
203 &R F & 4,800 4,800 0
04 EASHEYRFAH| 4,800 4,800 0
OBAN2IEAR=XH| (3002 0l5t)
400,000& 12& 4,800




